493660 - RO 125 FEQ 230V

Festool-Katalog
Festool-catalogue
www.festool.com

7
=1

=
SNAY




Pos| Teile-Nr. Benennung Menge
1 [492631 Anker 230 V 1
2 |492632 Feldpaket 230 V 1
3 [492628 Schaltgestange 1
4 1203914 plug it-Kabel 1
5 1491528 Steckergehause 230 V 1
6 (463361 Hohlrad 1
8 (401246 Sicherungsring 1
10 |401118 Kugellager 1
11 (400737 O-Ring 2
12 (463293 Exzenter 1
13 |219075 Linsenschraube M4 x 16 4
14 1467819 Auswuchtgewicht 1
15 1492621 Flansch 1
16 (463357 Dichtlippe 1
17 (400582 Kugellager 1
18 400745 Rillenkugellager 1
19 463360 Tellerrad 1
20 (463291 Getriebedeckel 1
21 (400743 Rillenkugellager 1
22 (771483 Sicherungsring 1
23 |463358 Exzenterscheibe 1
24 1463363 Getriebewelle 1
25 (400748 Rillenkugellager 1
26 |463362 Zahnrad 1
27 1400649 Spannscheibe M5 1
28 400797 Schraube M5 x 12 1
29 492624 Klinke 1
30 492623 Zahnscheibe 1
32 (492622 Getriebegehduse 1
33 |400174 Linsenschraube 3,5 x 22 mm 9
34 493783 Gehduse-Satz 1
35 1492626 Abdeckung 1
36 (400626 Rillenkugellager 1
37 (487498 Ventilator 1
38 463830 Distanzstiick 1
39 |228672 Rillenkugellager 1
40 [444018 Magnetring 1
41 |493471 Kohlehalter (Paar) 230V 1
42 1492629 Abschaltkohle (Paar) 1
43 492398 Electronic 230 V 1
44 110024224 Kanal CLEANTEC 1
45 1492630 Driicker 1
46 |465202 Federkontakt 1
47 [400855 Passscheibe 1
48 228738 Linsenschraube M4 x 10 3
49 1400797 Schraube M5 x 12 1
50 [465566 Dichtring 1
51 [400796 Zylinderschraube M6 x 25 1
52 1493912 Protector 1




